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Master of Arts (Economics) 3rd Semester
1128

MACRO ECONOMICS-I
Paper : MAECO-301 (In all Mediums)

Time Allowed : Three Hours] [Maximum Marks : 80
Note :— Attempt five questions in all, including question no. 1,

which is compulsory and select one question each from
Units I to IV.

1. Attempt any ten of the following questions in about 30 words
each :

(i) Relationship between short-run and long-run consumption
function.

«
(ii) Limitations of Absolute Income Hypothesis of

Consumption.

(iii) Assumptions of Permanent Income Hypothesis of
Consumption.

(iv) Main features of Life Cycle Hypothesis of Consumption.

(v) Define MEC.

(vi) What do you mean by Accelerator ?

(vii) Define User Cost of Capital.

.

2«68/EPY-10688(T) 1 [Turnover



(viii)Define Tobin's Q.

(ix) Empirical definition of Money.

(x) Components of Money Supply.

(xi) Distinguish between Ordinary Money and High Powered
Money.

(xii) Define Money Multiplier.

(xiii)What do you mean by "Liquidity Trap" ?

(xiv)Define LM curve.
1

(xv) Properties of IS curve. 10x2=20

UNIT-I

2. Critically examine Dussenbury's Relative Income Hypothesis
as an attempt to reconcile the short-run non-proportional and
long-run proportional consumption income relationship. 15

3. Discuss the Modern approach of consumption under uncertainty.
15

UNIT-II

4. Critically evaluate Neo-Classical theory of Investment. 15

5. Critically discuss Accelerator Theory of Investment. 15

UNIT-III
•

6. Describe the process of credit creation by Commercial Banks.
What are its limitations ? 12,3

7. Explain Baumol's contribution to the theory of Demand for
Money. 15
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o
UNIT-IV

8. Discuss how the equilibrium rate of interest and level of income

will change when investment and Money Supply increase.

15

9. Explain the rotation of IS Curve :

(a) When the elasticity of investment demand function

changes.

(b) When the Marginal Propensity to Save (MPS) changes.

15
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